MR E#Es EER(10A1H~10A26BEES)

JAL/JTA/JAC/RAC

DT R RSB INRERI RSB SREA VBRI TS|
X Ehi® | BHE®O = = = =
\0/1-06 | EEH fEE \0/1-06 | EEH fEE \0/1-06 | EEH fEE

@O | XEQ [ XEG EIEES EIEES " EEIES "
HR(PE) =24 [RERR) X448 (BB JAL _|JTA/RAC 55,500 5% 27,750 52% 35,500 39%
BEE HER) JTA/RAC| JAL 55,500 5% 27,750 52% 35,500 39%
B CRE)=FRE [z EH) %[ 58 (H5) JAL _|JTA/RAC 59,300 7% 29,650 54% 37,950 41%
FEE [HREGEH JTA/RAC| JAL 59,300 7% 29,650 54% 37,950 41%
RIR () = Z @B | KRR () %[ == (I H) JAL JAL 43,500 32% 21,750 66% 27,850 56%
LR (BT %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
ESE N ESACETE:D) JAL JAL 43,500 32% 21,750 66% 27,850 56%
LI (BT ) JAL JAL 43,500 31% 21,750 65% 27,850 56%
KR (BFE) = %3 31 | KR (B EE) %R = (FH) JAL JAL 43,500 32% 21,750 66% 27,850 56%
LR (BT 2) JAL JAL 43,500 31% 21,750 65% 27,850 56%
ESE N ESACETD) JAL JAL 43,500 32% 21,750 66% 27,850 56%
IR (BT %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
PNACTEHREACIDEIET: ) JAL JAL 40,900 34% 20,450 67% 26,200 58%
JENES = ) JAL JAL 40,900 34% 20,450 67% 26,200 58%
AW (A7) =8Il | KRR (BE) 5 ) JAL JAL 40,900 34% 20,450 67% 26,200 58%
JENES ) JAL JAL 40,900 34% 20,450 67% 26,200 58%
KB () =8I [ KB (FF) 5[ ) JAL JAL 41,400 33% 20,700 66% 26,500 57%
SIEE % ) JAL JAL 41,400 33% 20,700 66% 26,500 57%
KW (BA78) =SIEE [ ARk (BE7R) %[ ) JAL JAL 41,400 33% 20,700 66% 26,500 57%
IR % ) JAL JAL 41,400 33% 20,700 66% 26,500 57%
KR () =I5 [ KB (FF) 5[ ) JAL JAL 40,900 33% 20,450 66% 26,200 57%
LT ) JAL JAL 40,900 33% 20,450 66% 26,200 57%
KW (B878) =#/5 [ KBk (BFR) %[ ) JAL JAL 40,900 33% 20,450 66% 26,200 57%
HILFE ) JAL JAL 40,900 33% 20,450 66% 26,200 57%
KB () =BEE | KB (FF) 58] ) JAL JAL 41,300 23% 20,650 62% 26,450 51%
BRAESE ) JAL JAL 41,300 23% 20,650 62% 26,450 51%
KR () ==R [KERFH) H[: ) JAL JAL 37,800 27% 18,900 64% 24,200 53%
=j) ) JAL JAL 37,800 27% 18,900 64% 24,200 53%
KR (BEFG) = =iR ) JAL JAL 37,800 27% 18,900 64% 24,200 53%
) JAL JAL 37,800 27% 18,900 64% 24,200 53%
KR () =12% JAC JAC 20,500 35% 10,250 67% 13,100 58%
JAC JAC 20,500 35% 10,250 67% 13,100 58%
KR () =BF8 JAC JAC 32,600 17% 16,300 59% 20,850 47%
JAC JAC 32,600 17% 16,300 59% 20,850 47%
KR (D =25 JAL _|JTA/RAC 43,000 17% 21,500 58% 27,500 47%
JTA/RAC| JAL 43,000 17% 21,500 58% 27,500 47%
Kz (BdG) ==& JAL/JTA[JTA/RAC 43,000 17% 21,500 58% 27,500 47%
JTA/RAC|JAL/JTA 43,000 17% 21,500 58% 27,500 47%
KR (FRFH) =% JAL _|JTA/RAC 48,400 15% 24,200 58% 31,000 46%
JTA/RAC| JAL 48,400 15% 24,200 58% 31,000 46%
KR (Bi#) =h1E JAL/JTA[JTA/RAC 48,400 15% 24,200 58% 31,000 46%
] E: JTA/RAC|JAL/JTA 48,400 15% 24,200 58% 31,000 46%
2EE (PE) =& E 5| £ B (hEh) 5[ LIR BT T &%) JAL JAL 39,800 32% 19,900 66% 25,450 57%
i IR (BT %) JAL JAL 39,800 32% 19,900 66% 25,450 57%
AHE(FE) =25 |2nkE (P85 %48 G JTA_|JTA/RAC 44,000 22% 22,000 61% 28,150 50%
EEE R TEE) JTA/RAC| JTA 44,000 22% 22,000 61% 28,150 50%
AHE(FE) =RE|2sE (P85 %[44 G JTA_|JTA/RAC 45,200 27% 22,600 63% 28,950 53%
TEE [HRGEH JTA/RAC| JTA 45,200 27% 22,600 63% 28,950 53%
AR TR =/M2 = (HH) JAL JAL 33,500 40% 16,750 70% 21,450 61%
FIH) JAL JAL 33,500 40% 16,750 70% 21,450 61%
AR FFB) =M ER ) JAL JAL 35,000 44% 17,500 72% 22,400 64%
BICEES FIH) JAL JAL 35,000 44% 17,500 72% 22,400 64%
ALIR (BT m) =R [ L% F T ) 5| mm () JAL JAL 35,000 45% 17,500 72% 22,400 65%
G = (HH) JAL JAL 35,000 45% 17,500 72% 22,400 65%
IR B TF&) =RB[ALR@FHTR) %[ RR (FR) JAL JAL 36,000 44% 18,000 72% 23,050 64%
IEES = (HH) JAL JAL 36,000 44% 18,000 72% 23,050 64%
AR BT 8) = L0 AR GT &) %) FIH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
MEESTE ) JAL JAL 42,000 38% 21,000 69% 26,900 60%
IR FTH) =HE[LEFHTR R ) JAL JAL 37,400 42% 18,700 71% 23,950 63%
HES X ) JAL JAL 37,400 42% 18,700 71% 23,950 63%
LR FTH) =ES[HLIEFHTR R FIH) JAL JAL 39,000 38% 19,500 69% 24,950 60%
EEE = CRHE) JAL JAL 39,000 38% 19,500 69% 24,950 60%
IR (T &%) == R LR FTF ) %[ RR (HR) JAL JAL 39,900 37% 19,950 68% 25,550 59%
BN = (EH) JAL JAL 39,900 37% 19,950 68% 25,550 59%
#LIR (T3 =& 20 [ 1L F T i) % FIH) JAL JAL 41,400 36% 20,700 68% 26,500 59%
EHFE ) JAL JAL 41,400 36% 20,700 68% 26,500 59%
ALIR (BT m) =L LI T ) % ) JAL JAL 43,700 33% 21,850 67% 27,950 57%
NITES ) JAL JAL 43,700 33% 21,850 67% 27,950 57%
AREFTFR) = LAM[ALEGFTR) % ) JAL JAL 42,000 40% 21,000 70% 26,900 62%
JLAIMFE ) JAL JAL 42,000 40% 21,000 70% 26,900 62%
IR F TR =K [fLIEFHTR) R ) JAL JAL 42,000 39% 21,000 70% 26,900 61%
ARF ) JAL JAL 42,000 39% 21,000 70% 26,900 61%
IR F TR =RIB[HLIEFHTR R ) JAL JAL 44,000 39% 22,000 70% 28,150 61%
RIE S ) JAL JAL 44,000 39% 22,000 70% 28,150 61%
IR (BT ) =RA[fLIE HTR & ) JAL JAL 43,000 39% 21,500 69% 27,500 61%
REAF ) JAL JAL 43,000 39% 21,500 69% 27,500 61%
IR F TR = =B HLIEFHTR R ) JAL JAL 44,000 37% 22,000 69% 28,150 60%
EEFE ) JAL JAL 44,000 37% 22,000 69% 28,150 60%
IR FHTFR) =BRS[ AR FHTFR) X ) JAL JAL 49,000 32% 24,500 66% 31,350 57%
FREES ) JAL JAL 49,000 32% 24,500 66% 31,350 57%
LR BT 28 = il BB | ALIR (1 F5%) 58 JAL JAL 51,200 31% 25,600 66% 32,750 56%
JAL_[JAL/JTA] 51,200 32% 25,600 66% 32,750 57%
BEE (PN JAL JTA 51,200 33% 25,600 66% 32,750 57%
] JAL JTA 51,200 35% 25,600 67% 32,750 58%
EXACTIEIE GACET=) JAL JAL 51,200 31% 25,600 66% 32,750 56%
x JAL/JTA| JAL 51,200 32% 25,600 66% 32,750 57%
JTA JAL 51,200 33% 25,600 66% 32,750 57%
JTA JAL 51,200 35% 25,600 67% 32,750 58%
IR BT FH) =RE[LRFHTR) %[ RS ) JAL JTA 65,200 30% 32,600 65% 41,750 55%
AIEE ) JTA JAL 65,200 30% 32,600 65% 41,750 55%
ke =% 5 [ ) JAL JAL 52,100 33% 26,050 67% 33,350 57%
) JAL JAL 52,100 28% 26,050 64% 33,350 54%
ESE N ESACET:D) JAL JAL 52,100 33% 26,050 67% 33,350 57%
IR (BT %) JAL JAL 52,100 28% 26,050 64% 33,350 54%
=R =8l fakm % = (HH) JAL JAL 52,100 32% 26,050 66% 33,350 56%
JENED = (HH) JAL JAL 52,100 32% 26,050 66% 33,350 56%
12k =% EEGES = (CHHE) JAL JAL 52,100 31% 26,050 66% 33,350 56%
SR % R (HH) JAL JAL 52,100 31% 26,050 66% 33,350 56%
(RN EEGES = (CRE) JAL JAL 52,100 31% 26,050 65% 33,350 56%
HIREE = (HH) JAL JAL 52,100 31% 26,050 65% 33,350 56%
12k =BRAR FEGES = (HH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
HEER = (HH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
EE=5% EEHE I ESCEL)) JAL JAL 43,900 34% 21,950 67% 28,100 58%
pPNACGEE) JAL JAL 43,900 25% 21,950 63% 28,100 52%
R ([ER(RH) JAL JAL 43,900 34% 21,950 67% 28,100 58%
pPNACGEE) JAL JAL 43,900 25% 21,950 63% 28,100 52%
EHEEIESACEED) JAL JAL 43,400 34% 21,700 67% 27,800 58%
pNACGE=) JAL JAL 43,400 27% 21,700 64% 27,800 53%




MR E#Es EER(10A1H~10A26BEES)

JAL/JTA/JAC/RAC

srait R RSB INRERI RSB SREA VBRI TG
X Ehi® | BHE®O = = = =
l0/1-06 | EEH fEE l0/1-06 | EEH fEE l0/1-06 | M fEE
RO | XEQ [ XEG EIEES EIEES " EEES "
ZR%E [EZ(EA) JAL JAL 43,400 34% 21,700 67% 27,800 58%
pNACGEE)) JAL JAL 43,400 27% 21,700 64% 27,800 53%
1Bk =7t% ERE [ KEREED JAL JAL 42,400 26% 21,200 63% 27,150 52%
&% [ ARED JAL JAL 42,400 26% 21,200 63% 27,150 52%
12k = EHEEIESACEED) JAL JAL 42,300 31% 21,150 65% 27,050 56%
pPNACGEE) JAL JAL 42,300 23% 21,150 61% 27,050 51%
MEX [EZ@H) JAL JAL 42,300 31% 21,150 65% 27,050 56%
KR (£ JAL JAL 42,300 23% 21,150 61% 27,050 51%
(R HEEIESACEED) JAL JAL 39,000 20% 19,500 64% 24,950 55%
KR (£ JAL JAL 39,000 28% 19,500 64% 24,950 54%
W% [Rm(EH) JAL JAL 39,000 29% 19,500 64% 24,950 55%
pNACGEE) JAL JAL 39,000 28% 19,500 64% 24,950 54%
1B =8 ERE [ KEREED JAL JAL 37,000 27% 18,500 64% 23,700 53%
% [ ARED JAL JAL 37,000 27% 18,500 64% 23,700 53%
(RN B |[HRCHE) JAL JAL 36,800 37% 18,400 69% 23,550 60%
MMAE  [EFE(CHA) JAL JAL 36,800 37% 18,400 69% 23,550 60%
BE=5% BE%E [ hEG5) JTA _[JTA/RAC 38,000 16% 19,000 58% 24,300 46%
BEE 8 (R E) JTA/RAC| JTA 38,000 16% 19,000 58% 24,300 46%
BR=R1E 1B % 8 R E) JTA _[JTA/RAC 38,700 23% 19,350 62% 24,750 51%
HiE% | 5E R JTA/RAC| JTA 38,700 23% 19,350 62% 24,750 51%
TR =E ZimplE  |EEFH TR JAL JAL 30,500 39% 15,250 69% 19,500 61%
[ LR (BT F ) JAL JAL 30,500 39% 15,250 69% 19,500 61%
TR =R ZimplE |EEFH TR JAL JAL 32,000 37% 16,000 69% 20,500 60%
FRH  [ARETFR JAL JAL 32,000 37% 16,000 69% 20,500 60%
ESCFIEINN ES e E GG JAL JAL 41,200 35% 20,600 67% 26,350 58%
A EFACTED) JAL JAL 41,200 35% 20,600 67% 26,350 58%
Bl =i R | Eft EURS [Rm (E) JAL JAL 45,000 36% 22,500 68% 28,800 59%
%A =FE Wl ES e E GG JAL JAL 45,000 37% 22,500 68% 28,800 60%
ENE A ESACED) JAL JAL 45,000 37% 22,500 68% 28,800 60%
TR S FE R ESEED JAL JAL 47,700 34% 23,850 67% 30,550 58%
HLIR (3 F 5 JAL JAL 47,700 29% 23,850 64% 30,550 54%
Le% [EE(RE) JAL JAL 47,700 34% 23,850 67% 30,550 58%
1R (3 T 5 JAL JAL 47,700 29% 23,850 64% 30,550 54%
TR =HE ESTIES = (HH) JAL JAL 43,500 40% 21,750 70% 27,850 62%
HE S = (HH) JAL JAL 43,500 40% 21,750 70% 27,850 62%
iR =40 ESRIES = (HH) JAL JAL 49,500 32% 24,750 66% 31,700 57%
[T = (HH) JAL JAL 49,500 32% 24,750 66% 31,700 57%
TR =H1E ESRIES = (HH) JAL JTA 71,800 28% 35,900 64% 45,950 54%
AIEE = (HH) JTA JAL 71,800 28% 35,900 64% 45,950 54%
B =/ JENIES = (HH) JAL JAL 39,600 36% 19,800 68% 25,350 59%
IMRFE = (HH) JAL JAL 39,600 36% 19,800 68% 25,350 59%
Bl =Faft B R JEIES = (HH) JAL JAL 45,000 34% 22,500 67% 28,800 58%
FIft RS RS CRE) JAL JAL 45,000 34% 22,500 67% 28,800 58%
FEJII=Fl JEVIES = (HH) JAL JAL 45,000 35% 22,500 68% 28,800 59%
[ = (HH) JAL JAL 45,000 35% 22,500 68% 28,800 59%
BI=HE JENIES = (HH) JAL JAL 43,500 39% 21,750 69% 27,850 61%
ES] = (HH) JAL JAL 43,500 39% 21,750 69% 27,850 61%
FBJII=#210 JENIES = (HH) JAL JAL 49,500 31% 24,750 65% 31,700 56%
[N = (HH) JAL JAL 49,500 31% 24,750 65% 31,700 56%
fEJI=%R1E JENIES = (EH) JAL JTA 69,900 29% 34,950 65% 44,750 55%
AIEE = (HH) JTA JAL 69,900 29% 34,950 65% 44,750 55%
g =/ SR % = (HH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
IMAFE = (HH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
Ik =FfE B R P = (HH) JAL JAL 45,000 34% 22,500 67% 28,800 58%
FIfe RS RS CRE) JAL JAL 45,000 34% 22,500 67% 28,800 58%
flzg=HaAL Pl = (HH) JAL JAL 45,000 35% 22,500 67% 28,800 58%
[N = (HH) JAL JAL 45,000 35% 22,500 67% 28,800 58%
Sk =58 S5 = (CRHE) JAL JAL 47,700 32% 23,850 66% 30,550 56%
5% = (HH) JAL JAL 47,700 32% 23,850 66% 30,550 56%
HIgE=HE SR % = (HH) JAL JAL 43,500 38% 21,750 69% 27,850 60%
ES = (HH) JAL JAL 43,500 38% 21,750 69% 27,850 60%
flEg=#xl FEES = (HH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
[T = (EH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
Sk ="n1E SR % = (EH) JAL JTA 69,500 29% 34,750 65% 44,500 55%
AIEE = (HH) JTA JAL 69,500 29% 34,750 65% 44,500 55%
HIR=/MR LT = (CRE) JAL JAL 39,600 34% 19,800 67% 25,350 58%
INEASE = (HH) JAL JAL 39,600 34% 19,800 67% 25,350 58%
HIR=FAfLAE BILFE = (CHE) JAL JAL 45,000 33% 22,500 67% 28,800 57%
FIfC RS RS CRE) JAL JAL 45,000 33% 22,500 67% 28,800 57%
R =Fel Ll N = (HH) JAL JAL 45,000 34% 22,500 67% 28,800 58%
FEILLFE = (HH) JAL JAL 45,000 34% 22,500 67% 28,800 58%
HLE=HE HIREE = (HH) JAL JAL 43,500 38% 21,750 69% 27,850 60%
HES = (EH) JAL JAL 43,500 38% 21,750 69% 27,850 60%
L =#al LT = (CHHE) JAL JAL 49,500 30% 24,750 65% 31,700 55%
[T = (HH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
HLR=FE HILFE = (CRH) JAL JTA 68,900 20% 34,450 65% 44,100 55%
AIEE = (HH) JTA JAL 68,900 29% 34,450 65% 44,100 55%
BEE =/ EEEHR = (HH) JAL JAL 34,100 36% 17,050 68% 21,800 59%
IMRFE = (HH) JAL JAL 34,100 36% 17,050 68% 21,800 59%
EEE =M AR HEER = (HH) JAL JAL 44,000 27% 22,000 64% 28,150 53%
FIfe VRS RS CRE) JAL JAL 44,000 27% 22,000 64% 28,150 53%
B8R =Fd L HEER = (HH) JAL JAL 44,000 28% 22,000 64% 28,150 54%
BN = (HH) JAL JAL 44,000 28% 22,000 64% 28,150 54%
EHE=L5 EEER = (HH) JAL JAL 47,500 24% 23,750 62% 30,400 51%
&% = (HH) JAL JAL 47,500 24% 23,750 62% 30,400 51%
EHE=HE HER [ER(EH) JAL JAL 42,500 32% 21,250 66% 27,850 56%
pPNACGEE) JAL JAC 42,500 27% 21,250 63% 27,850 52%
HEX [EERE) JAL JAL 42,500 32% 21,250 66% 27,850 56%
pPNACGEE) JAC JAL 42,500 27% 21,250 63% 27,850 52%
EEE=H0 HER [EE(HH) JAL JAL 48,400 24% 24,200 62% 31,000 51%
pPNACGEE) JAL JAL 48,400 13% 24,200 57% 31,000 45%
WLE [EREH) JAL JAL 48,400 24% 24,200 62% 31,000 51%
pPNACGEE) JAL JAL 48,400 13% 24,200 57% 31,000 45%
EEE=dL M HEER [HF(PH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
JEAME [H=ECRE) JAL JAL 51,100 25% 25,550 62% 32,700 52%
EHE=K% HER [HZCRE) JAL JAL 40,500 40% 20,250 70% 25,900 61%
pPNACGEE) JAL JAL 40,500 30% 20,250 65% 25,900 55%
K% [RERE) JAL JAL 40,500 40% 20,250 70% 25,900 61%
pPNACGEE) JAL JAL 40,500 30% 20,250 65% 25,900 55%
=R HEER [EZ(PH) JAL JAL 42,000 40% 21,000 70% 26,900 62%
RIEs [ERCRE) JAL JAL 42,000 40% 21,000 70% 26,900 62%
pPNACGEE) JAL JAL 42,000 35% 21,000 67% 26,900 58%
HER [EE(HH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
pPNACGEE) JAL JAL 42,000 33% 21,000 66% 26,900 57%
RBA%E |[RR(CHR) JAL JAL 42,000 38% 21,000 69% 26,900 60%
pPNACGEE) JAL JAL 42,000 33% 21,000 66% 26,900 57%
=2 HER [EE(HH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
pNACGEE) JAL _[JAL/JAC 42,000 33% 21,000 66% 26,900 57%




MERIEME5 EEXR(10A1H~10A26BEFES) JAL/JTA/JAC/RAC

srait R RSB INRERI RSB SREA VBRI TG
X Ehi® | BHE®O = = = =
l0/1-06 | EEH fEE l0/1-06 | EEH fEE l0/1-06 | M fEE
RO | XEQ [ XEG EIEES EIEES " EEIES "
BN EEICED JAL JAL 42,000 38% 21,000 69% 26,900 60%
KR (£ JAL/JAC]  JAL 42,000 33% 21,000 66% 26,900 57%
HE=ERS B EACEED) JAL JAL 43,000 39% 21,500 69% 27,500 61%
pPNACGEE) JAL JAC 43,000 35% 21,500 67% 27,500 58%
BEREX [RR(CHH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
pPNACGEE) JAC JAL 43,000 35% 21,500 67% 27,500 58%
EEE=FH1E HEER = (HH) JAL JTA 62,700 31% 31,350 65% 40,150 56%
AIEE = (HH) JTA JAL 62,700 31% 31,350 65% 40,150 56%
EH=I EHR GAERE:D) JAL JAL 32,000 38% 16,000 69% 20,500 61%
IMRFE = (HH) JAL JAL 32,000 38% 16,000 69% 20,500 61%
EH=FAE EHER GAERE:D) JAL JAL 36,000 39% 18,000 70% 23,050 61%
FIfe RS RS CRE) JAL JAL 36,000 39% 18,000 70% 23,050 61%
HH=MW EHR GAERE:D) JAL JAL 36,000 40% 18,000 70% 23,050 62%
BN = (HH) JAL JAL 36,000 40% 18,000 70% 23,050 62%
EHR=IL5 EHER GAERE:D) JAL JAL 37,000 39% 18,500 70% 23,700 61%
&% R (HH) JAL JAL 37,000 39% 18,500 70% 23,700 61%
EH=OFE EHER = (CRE) JAL JAL 39,000 40% 19,500 70% 24,950 61%
WO 8% [RR (FH) JAL JAL 39,000 40% 19,500 70% 24,950 61%
BEHR=HE TR ESHEEE)) JAL JAL 36,800 40% 18,400 70% 23,550 62%
pPNACGEE) JAL JAC 36,800 34% 18,400 67% 23,550 58%
HEHX [EERE) JAL JAL 36,800 40% 18,400 70% 23,550 62%
pPNACGEE) JAC JAL 36,800 34% 18,400 67% 23,550 58%
EH=HE EHE [EmCEE) JAL JAL 34,000 43% 17,000 71% 21,750 64%
EE% |[ER(EH) JAL JAL 34,000 43% 17,000 71% 21,750 64%
EH=mn 5% [EmCEHE) JAL JAL 36,000 40% 18,000 70% 23,050 61%
SR A ESACED) JAL JAL 36,000 40% 18,000 70% 23,050 61%
HH=mA 5% |[EmCEE) JAL JAL 37,000 40% 18,500 70% 23,700 61%
BA%E |[ER(EH JAL JAL 37,000 40% 18,500 70% 23,700 61%
HHR=L T ESHEEE)) JAL JAL 37,000 40% 18,500 70% 23,700 62%
pPNACGEE) JAL JAL 37,000 31% 18,500 66% 23,700 56%
WLE [EREH) JAL JAL 37,000 40% 18,500 70% 23,700 62%
pPNACGEE) JAL JAL 37,000 31% 18,500 66% 23,700 56%
HEHR=IAM EHE [ER(CRHE) JAL JAL 43,900 34% 21,950 67% 28,100 58%
JEAME [H=RCRE) JAL JAL 43,900 34% 21,950 67% 28,100 58%
BEHR=KD BHA% |[HRECEA) JAL JAL 39,000 41% 19,500 70% 24,950 62%
pPNACGEE) JAL JAL 39,000 30% 19,500 65% 24,950 55%
K% [REE) JAL JAL 39,000 41% 19,500 70% 24,950 62%
pPNACGEE) JAL JAL 39,000 30% 19,500 65% 24,950 55%
EHR=RK EHRE ([ER(RH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
pPNACGEE)) JAL JAL 42,000 33% 21,000 66% 26,900 57%
RIE% [HRCRHE) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (£ JAL JAL 42,000 33% 21,000 66% 26,900 57%
EHR=RX EHRE ([HRCHH) JAL JAL 40,500 39% 20,250 70% 25,900 61%
RBA%E |[RECHR) JAL JAL 40,500 39% 20,250 70% 25,900 61%
KR (£ JAL JAL 40,500 33% 20,250 66% 25,900 57%
EHR=ER 2 EVACE)) JAL JAL 40,500 39% 20,250 70% 25,900 61%
pPNACGEE)) JAL _|JAL/JAC 40,500 33% 20,250 66% 25,900 57%
B EEICE JAL JAL 40,500 39% 20,250 70% 25,900 61%
pPNACGEE)) JAL/JAC]  JAL 40,500 33% 20,250 66% 25,900 57%
EHR=ERE EHRE ([ER(RH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (£ JAL JAC 42,000 34% 21,000 67% 26,900 58%
ERBE [RR(CRH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
R (51 JAC JAL 42,000 34% 21,000 67% 26,900 58%
EH=RE EHER = (FH) JAL JTA 60,800 32% 30,400 66% 38,900 56%
AIEE = (HH) JTA JAL 60,800 32% 30,400 66% 38,900 56%
ZiR=/M ZR% = (HH) JAL JAL 32,000 38% 16,000 69% 20,500 60%
IMRFE = (HH) JAL JAL 32,000 38% 16,000 69% 20,500 60%
R=FafcEiE | B#dEUES [RE CRE) JAL JAL 36,000 38% 18,000 69% 23,050 61%
ZiR=FEW =iR% = (HH) JAL JAL 36,000 40% 18,000 70% 23,050 61%
= (HH) JAL JAL 36,000 40% 18,000 70% 23,050 61%
ZR=IE8& = (HH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
= (HH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
ZR=1LOFH ZiR% = (HH) JAL JAL 39,000 39% 19,500 70% 24,950 61%
WhOFERs (RN (FH) JAL JAL 39,000 39% 19,500 70% 24,950 61%
ZR=HZE ZiR%E [EZ(HA) JAL JAL 37,900 38% 18,950 69% 24,250 60%
pPNACGEE) JAL JAC 37,900 34% 18,950 67% 24,250 57%
HEX [EERE) JAL JAL 37,900 38% 18,950 69% 24,250 60%
pPNACGEE) JAC JAL 37,900 34% 18,950 67% 24,250 57%
ZR=15 =RE [Em(EE) JAL JAL 34,000 42% 17,000 71% 21,750 63%
EERE |[ER(EH) JAL JAL 34,000 42% 17,000 71% 21,750 63%
ZR=%#n =R¥E [Em(EE) JAL JAL 36,000 39% 18,000 69% 23,050 61%
BR%E |[ERH JAL JAL 36,000 39% 18,000 69% 23,050 61%
ZR=8H =RE [Em(EE) JAL JAL 36,000 41% 18,000 70% 23,050 62%
BA%E |[ER(EH) JAL JAL 36,000 41% 18,000 70% 23,050 62%
ZiR=# ZR%E [EZ(HA) JAL JAL 37,000 40% 18,500 70% 23,700 61%
pPNACGEE) JAL JAL 37,000 32% 18,500 66% 23,700 57%
WLE [EZEH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
pPNACGEE) JAL JAL 37,000 32% 18,500 66% 23,700 57%
ZiR=4RM R¥ [HZ(HA) JAL JAL 43,400 34% 21,700 67% 27,800 58%
JEAME [HECRE) JAL JAL 43,400 34% 21,700 67% 27,800 58%
ZR=K% ZiR%E [EZ(HA) JAL JAL 39,000 40% 19,500 70% 24,950 62%
pPNACGEE) JAL JAL 39,000 32% 19,500 66% 24,950 56%
KH% [HRE(RE) JAL JAL 39,000 40% 19,500 70% 24,950 62%
ZR=Fi& ZiR%E [EZ(HA) JAL JAL 42,000 39% 21,000 69% 26,900 61%
pPNACGEE) JAL JAL 42,000 34% 21,000 67% 26,900 58%
RIE% [ERCRE) JAL JAL 42,000 39% 21,000 69% 26,900 61%
pPNACGEE) JAL JAL 42,000 34% 21,000 67% 26,900 58%
ZR=mEX HR CRE) JAL JAL 40,500 39% 20,250 69% 25,900 61%
pPNACGEE) JAL JAL 40,500 34% 20,250 67% 25,900 58%
Hm CRE) JAL JAL 40,500 39% 20,250 69% 25,900 61%
ZR=Ek R CRE) JAL JAL 40,500 39% 20,250 69% 25,900 61%
pPNACGEE) JAL_|JAL/JAC 40,500 34% 20,250 67% 25,900 58%
HR CRE) JAL JAL 40,500 39% 20,250 69% 25,900 61%
pPNACGEE) JAL/JAC]  JAL 40,500 34% 20,250 67% 25,900 58%
ZIR=ERS HE(CRA) JAL JAL 42,000 39% 21,000 69% 26,900 61%
pPNACGEE) JAL JAC 42,000 35% 21,000 67% 26,900 58%
ERBE [RR(CRH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
R (51 JAC JAL 42,000 35% 21,000 67% 26,900 58%
=R=%AE ZiR% = (HH) JAL JTA 60,800 32% 30,400 66% 38,900 56%
AIEE = (HH) JTA JAL 60,800 32% 30,400 66% 38,900 56%
FRE =/ EAZ = (HH) JAL JAL 30,900 34% 15,450 67% 19,800 57%
INEASE = (HH) JAL JAL 30,900 34% 15,450 67% 19,800 57%
HE=mEE S = (HH) JAL JAL 32,000 40% 16,000 70% 20,500 62%
FIfC RS RS CRE) JAL JAL 32,000 40% 16,000 70% 20,500 62%
FXE =Fe L EAE = (HH) JAL JAL 32,000 41% 16,000 71% 20,500 63%
FELLFE = (HH) JAL JAL 32,000 41% 16,000 71% 20,500 63%
ME=LE5 MEAZ = (HH) JAL JAL 34,000 39% 17,000 69% 21,750 61%
LE% = (EH) JAL JAL 34,000 39% 17,000 69% 21,750 61%




MR E#Es EER(10A1H~10A26BEES)

JAL/JTA/JAC/RAC

srait R RSB INRERI RSB SREA VBRI TG
X Ehi® | BHE®O = = = =
l0/1-06 | EEH fEE l0/1-06 | EEH fEE l0/1-06 | M fEE
RO | XEQ [ XEG EIEES EIEES " EEIES "
RE=LOFH BEHE [HRCRE) JAL JAL 37,000 38% 18,500 69% 23,700 60%
OS85 [Rm (FH) JAL JAL 37,000 38% 18,500 69% 23,700 60%
ME=HE BEE [EZCRE) JAL JAL 32,000 43% 16,000 71% 20,500 63%
pPNACGEE) JAL JAC 32,000 39% 16,000 69% 20,500 61%
HEHRX [EERE) JAL JAL 32,000 43% 16,000 71% 20,500 63%
pPNACGEE) JAC JAL 32,000 39% 16,000 69% 20,500 61%
HE=E5 MEAX |[ERGH JAL JAL 32,000 41% 16,000 70% 20,500 62%
EERE |[ER(EH) JAL JAL 32,000 41% 16,000 70% 20,500 62%
ME=E% CEEESICT:) JAL JAL 34,000 37% 17,000 69% 21,750 60%
SHE [RRCHA) JAL JAL 34,000 37% 17,000 69% 21,750 60%
HE=FA AR ESICT:) JAL JAL 34,000 39% 17,000 70% 21,750 61%
T E GACT=:) JAL JAL 34,000 39% 17,000 70% 21,750 61%
FE =0 TEE GACT=)) JAL JAL 36,000 36% 18,000 68% 23,050 59%
pPNACGEE) JAL JAL 36,000 28% 18,000 64% 23,050 54%
WLE [EREH) JAL JAL 36,000 36% 18,000 68% 23,050 59%
pPNACGEE) JAL JAL 36,000 28% 18,000 64% 23,050 54%
FE=1LRM MEAX [EFE(FH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
JEAME [H=RCRE) JAL JAL 42,300 31% 21,150 65% 27,050 56%
ME=X% BEFE [EZCRE) JAL JAL 37,000 39% 18,500 69% 23,700 61%
KR (£ JAL JAL 37,000 29% 18,500 65% 23,700 55%
RA%E [REE) JAL JAL 37,000 39% 18,500 69% 23,700 61%
KR (£ JAL JAL 37,000 29% 18,500 65% 23,700 55%
HH=R&E MEX [EZEH) JAL JAL 39,000 39% 19,500 69% 24,950 61%
pPNACGEE) JAL JAL 39,000 34% 19,500 67% 24,950 57%
RIE% [ERCRH) JAL JAL 39,000 39% 19,500 69% 24,950 61%
pPNACGEE)) JAL JAL 39,000 34% 19,500 67% 24,950 57%
MEX [EZEH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (£ JAL JAL 39,000 31% 19,500 65% 24,950 56%
RBA%E |[RECHA) JAL JAL 39,000 36% 19,500 68% 24,950 59%
pPNACGEE) JAL JAL 39,000 31% 19,500 65% 24,950 56%
HE==k MEX [EZ@H) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (£ JAL _|JAL/JAC 39,000 31% 19,500 65% 24,950 56%
B EEICE JAL JAL 39,000 36% 19,500 68% 24,950 59%
pPNACGEE) JAL/JAC] JAL 39,000 31% 19,500 65% 24,950 56%
HE=ERS MERX [ER(HH) JAL JAL 40,500 36% 20,250 68% 25,900 59%
KR (£ JAL JAC 40,500 32% 20,250 66% 25,900 57%
ERBE [RR(CRH) JAL JAL 40,500 36% 20,250 68% 25,900 59%
KR (£ JAC JAL 40,500 32% 20,250 66% 25,900 57%
ME=HE PR = (HH) JAL JTA 59,400 29% 29,700 65% 38,000 55%
AIEE = (HH) JTA JAL 59,400 29% 29,700 65% 38,000 55%
IR Nz = (HH) JAL JAL 29,600 26% 14,800 63% 18,950 53%
INAZE = (HH) JAL JAL 29,600 26% 14,800 63% 18,950 53%
\Lifg = Iz R (HH) JAL JAL 32,000 34% 16,000 67% 20,500 58%
[ R (HH) JAL JAL 32,000 34% 16,000 67% 20,500 58%
W =1L8 Iz = (HH) JAL JAL 33,000 33% 16,500 66% 21,100 57%
L5 = (HH) JAL JAL 33,000 33% 16,500 66% 21,100 57%
WLfz =100 F& Z3 = (HH) JAL JAL 37,000 30% 18,500 65% 23,700 55%
WWOFHE [HR(EH) JAL JAL 37,000 30% 18,500 65% 23,700 55%
Wi =HE IZ N SACT=:) JAL JAL 33,000 33% 16,500 67% 21,100 57%
KR (£ JAL JAC 33,000 35% 16,500 68% 21,100 59%
HERX [EERE) JAL JAL 33,000 33% 16,500 67% 21,100 57%
KR (£ JAC JAL 33,000 35% 16,500 68% 21,100 59%
=15 N2 E SACT=:) JAL JAL 32,000 33% 16,000 66% 20,500 57%
S RRCHEA) JAL JAL 32,000 33% 16,000 66% 20,500 57%
WL == N2 E SACT=:) JAL JAL 32,000 33% 16,000 66% 20,500 57%
BR% |[ERH JAL JAL 32,000 33% 16,000 66% 20,500 57%
Ll =40 22 E SACT=:) JAL JAL 33,000 33% 16,500 67% 21,100 57%
[ A E GACET=D) JAL JAL 33,000 33% 16,500 67% 21,100 57%
Wil =#21l I SACT=:) JAL JAL 33,000 34% 16,500 67% 21,100 58%
KR (£ JAL JAL 33,000 33% 16,500 66% 21,100 57%
mLE [EREH) JAL JAL 33,000 34% 16,500 67% 21,100 58%
KR (£ JAL JAL 33,000 33% 16,500 66% 21,100 57%
Wz =L A W% (R (FE) JAL JAL 39,000 29% 19,500 64% 24,950 55%
JEAME [H=ECRE) JAL JAL 39,000 29% 19,500 64% 24,950 55%
Wi =K% Wif % [Rm(EE) JAL JAL 38,000 29% 19,000 65% 24,300 55%
pPNACGEE) JAL JAL 38,000 26% 19,000 63% 24,300 53%
RA%E [RERE) JAL JAL 38,000 29% 19,000 65% 24,300 55%
KR (£ JAL JAL 38,000 26% 19,000 63% 24,300 53%
\ife =Rk 2N VACT=:) JAL JAL 41,000 28% 20,500 64% 26,250 54%
KR (£ JAL JAL 41,000 29% 20,500 64% 26,250 54%
RIE%E [ERCRH) JAL JAL 41,000 28% 20,500 64% 26,250 54%
pPNACGEE) JAL JAL 41,000 29% 20,500 64% 26,250 54%
Iif % [Rm(EE) JAL JAL 39,000 29% 19,500 64% 24,950 55%
pPNACGEE) JAL JAL 39,000 30% 19,500 65% 24,950 55%
RBA%E |[RR(CHR) JAL JAL 39,000 20% 19,500 64% 24,950 55%
KR (£ JAL JAL 39,000 30% 19,500 65% 24,950 55%
iy ="E I Z N VACT:) JAL JAL 39,000 29% 19,500 64% 24,950 55%
PGS JAL _|JAL/JAC 39,000 30% 19,500 65% 24,950 55%
B EEICE JAL JAL 39,000 20% 19,500 64% 24,950 55%
PGS JAL/JAC]  JAL 39,000 30% 19,500 65% 24,950 55%
I =ERS W% [RR(FH) JAL JAL 41,000 28% 20,500 64% 26,250 54%
PGS JAL JAC 41,000 30% 20,500 65% 26,250 55%
ERBE [RR(CRH) JAL JAL 41,000 28% 20,500 64% 26,250 54%
PGS JAC JAL 41,000 30% 20,500 65% 26,250 55%
\Lfis =18 2 EEEGICT:) JAL JTA 59,400 23% 29,700 62% 38,000 51%
AiEE [RECHA) JTA JAL 59,400 23% 29,700 62% 38,000 51%
a=mE weas  [XRUFE JAL JAC 32,000 36% 16,000 68% 20,500 59%
FE PN JAC JAL 32,000 36% 16,000 68% 20,500 59%
fli& =#10 WEas  [XRUFER JAL JAL 34,000 29% 17,000 64% 21,750 54%
[T XA )) JAL JAL 34,000 29% 17,000 64% 21,750 54%
a=xX% W& [XREER JAL JAL 36,000 28% 18,000 64% 23,050 54%
b A PN E)) JAL JAL 36,000 28% 18,000 64% 23,050 54%
e =Rk WEas  [XREFER JAL JAL 39,000 31% 19,500 65% 24,950 56%
I A PNACGIE)) JAL JAL 39,000 31% 19,500 65% 24,950 56%
lies =FEX W&  [XRUEFER JAL JAL 37,000 32% 18,500 66% 23,700 56%
BEA% [ KRR JAL JAL 37,000 32% 18,500 66% 23,700 56%
e ==k W& [XRUEFER JAL _|JAL/JAC 39,000 28% 19,500 64% 24,950 54%
EEEEENAGE)) JAL/JAC]  JAL 39,000 28% 19,500 64% 24,950 54%
WeE=ERS e [XRUEFER JAL JAC 39,000 32% 19,500 66% 24,950 57%
ERE% [KR@FRF JAC JAL 39,000 32% 19,500 66% 24,950 57%
FR=HE FinE  |[ARUFMD JAL JAC 29,000 40% 14,500 70% 18,550 62%
HER [ KREFFD JAC JAL 29,000 40% 14,500 70% 18,550 62%
FR=H0 Fim%E [ ARUFM JAL JAL 32,000 30% 16,000 65% 20,500 55%
[T PG )) JAL JAL 32,000 30% 16,000 65% 20,500 55%
FR=K% Fin%  |[ARUFMD JAL JAL 34,000 30% 17,000 65% 21,750 55%
KH% [ KREFFD JAL JAL 34,000 30% 17,000 65% 21,750 55%
FR=RK FRE | KEREED JAL JAL 37,000 32% 18,500 66% 23,700 57%
REE  [XRED JAL JAL 37,000 32% 18,500 66% 23,700 57%




MR E#Es EER(10A1H~10A26BEES)

JAL/JTA/JAC/RAC

srait R RSB INRERI RSB SREA VBRI TG
X Ehi® | BHE®O = = = =
l0/1-06 | EEH fEE l0/1-06 | EEH fEE l0/1-06 | M fEE
RO | XEQ [ XEG EIEES EIEES " EEES "
FR=FEAX KR (R JAL JAL 36,000 31% 18,000 66% 23,050 56%
KR (£ JAL JAL 36,000 31% 18,000 66% 23,050 56%
FR=Ek KR (R JAL _|JAL/JAC 36,000 31% 18,000 66% 23,050 56%
PNACGEE)) JAL/JAC]  JAL 36,000 31% 18,000 66% 23,050 56%
FR=ERS i KB (FFFD JAL JAC 37,000 34% 18,500 67% 23,700 58%
ERE% [KR@FF JAC JAL 37,000 34% 18,500 67% 23,700 58%
NR=TEL INEAZE = (HH) JAL JAL 30,200 42% 15,100 71% 19,350 63%
[ = (HH) JAL JAL 30,200 42% 15,100 71% 19,350 63%
IME=IRE INEASE = (HH) JAL JAL 30,900 41% 15,450 71% 19,800 62%
IS = (HH) JAL JAL 30,900 41% 15,450 71% 19,800 62%
IME=ILOFE IMRFE R (EH) JAL JAL 34,700 39% 17,350 69% 22,200 61%
WO FERs [RR (FH) JAL JAL 34,700 39% 17,350 69% 22,200 61%
IME=HE INEAZE = (HH) JAL JAL 31,500 41% 15,750 70% 20,150 62%
ES = (HH) JAL JAL 31,500 41% 15,750 70% 20,150 62%
IMA=TER INEASE R (HH) JAL JAL 29,500 43% 14,750 71% 18,900 63%
EEE R (HH) JAL JAL 29,500 43% 14,750 71% 18,900 63%
INR=TFH INEASE R (HH) JAL JAL 29,600 42% 14,800 71% 18,950 63%
B R (HH) JAL JAL 29,600 42% 14,800 71% 18,950 63%
INR=TFH INASE R (HH) JAL JAL 31,500 41% 15,750 70% 20,150 62%
=A% R (EH) JAL JAL 31,500 41% 15,750 70% 20,150 62%
INR=#310 INEASE R (EH) JAL JAL 32,000 41% 16,000 70% 20,500 62%
[T = (HH) JAL JAL 32,000 41% 16,000 70% 20,500 62%
/MR =L TN INEASE = (HH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
EZR I = (HH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
INR=KH INEASE = (HH) JAL JAL 35,700 38% 17,850 69% 22,850 60%
KR35 = (HH) JAL JAL 35,700 38% 17,850 69% 22,850 60%
M=Kk INAZE = (HH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
RIG% = (HH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
IME=FER INEASE = (HH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
REAZ = (HH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
IME=HIE INEASE = (HH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
EEES = (HH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
MA=ERE INEASE = (HH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
ERE%E [RZCHHE) JAL JAL 39,000 36% 19,500 68% 24,950 59%
IME=EE MAFE PR GRER) JTA_|JTA/RAC 55,500 5% 27,750 52% 35,500 39%
=Eh% [PREH) JTA/RAC| JTA 55,500 5% 27,750 52% 35,500 39%
INR=T1E IR EACEED) JAL JTA 59,400 27% 29,700 63% 38,000 53%
PR (BRER) JTA_|JTA/RAC 59,400 7% 29,700 53% 38,000 40%
REEX [EZ(HER) JTA JAL 59,400 27% 29,700 63% 38,000 53%
R GBE) JTA/RAC| JTA 59,400 7% 29,700 53% 38,000 40%
BL==% [N 8 R E) JTA _[JTA/RAC 43,000 17% 21,500 58% 27,500 47%
BEE HER) JTA/RAC| JTA 43,000 17% 21,500 58% 27,500 47%
&Il =R FELL 5 8 R E) JTA _[JTA/RAC 48,400 15% 24,200 58% 31,000 46%
HiE% #8 (R E) JTA/RAC| JTA 48,400 15% 24,200 58% 31,000 46%
BA=E& IS Hl JAL/JAC|JAL/JAC 27,700 36% 13,850 68% 17,750 59%
B Hl JAL/JAC|JAL/JAC 27,700 36% 13,850 68% 17,750 59%
BERB=5H X JAC JAC 19,650 27% 9,850 63% 12,550 53%
JAC JAC 19,650 27% 9,850 63% 12,550 53%
BERE="KERER JAC JAC 16,800 43% 8,400 72% 12,650 57%
K JAC JAC 16,800 43% 8,400 72% 12,650 57%
(B =FH AEEB) R ) JAL JAL 46,500 34% 23,250 67% 29,750 58%
EHE ) JAL JAL 46,500 34% 23,250 67% 29,750 58%
R (B = RGBT % ) JAL JAL 46,500 34% 23,250 67% 29,750 58%
REE ) JAL JAL 46,500 34% 23,250 67% 29,750 58%
AR (R E) =R E [ (BB 3 ) JAL JAL 45,000 31% 22,500 66% 28,800 56%
PN ) JAL JAL 45,000 31% 22,500 66% 28,800 56%
SRR (ARE) =L [ GRE) % ) JAL JAL 45,000 24% 22,500 62% 28,800 51%
Z3 ) JAL JAL 45,000 24% 22,500 62% 28,800 51%
R (B =flE 8B % JTA JAL 45,200 36% 22,600 68% 28,950 59%
aE%E JAL JTA 45,200 36% 22,600 68% 28,950 59%
SRR (ARER) =/M2 [ GRE) %[ CRHE) JAL JAL 40,900 35% 20,450 67% 26,200 58%
MAE  [REFECRA) JAL JAL 40,900 35% 20,450 67% 26,200 58%
HEEB) =5 MHR@EB X EE JTA _[JAL/JAC 31,500 38% 15,750 69% 20,150 61%
SR FeiER] JAL/JAC] JTA 31,500 38% 15,750 69% 20,150 61%
SRR (B =Rl AR B) R  BE JTA JAC 27,900 42% 13,950 71% 17,850 63%
[N 2k JAC JTA 27,900 42% 13,950 71% 17,850 63%
EEC RS E VA I JAL JAC 43,850 29% 21,950 65% 28,100 55%
R (51 JAL JAL 43,850 25% 21,950 63% 28,100 52%
BEXBE | BERE JAC JAL 43,850 20% 21,950 65% 28,100 55%
pNACGES) JAL JAL 43,850 25% 21,950 63% 28,100 52%
RECRE) =ERB|RRCAE) %[ ERE JAL JAC 43,950 30% 22,000 65% 28,150 55%
BEAE JAL JAC 43,950 21% 22,000 61% 28,100 50%
ERBR BER JAC JAL 43,950 30% 22,000 65% 28,150 55%
BEAE JAC JAL 43,950 21% 22,000 61% 28,100 50%
RECAE) =@zB|RR (AR %] _ER JAL JAC 45,050 31% 22,550 66% 28,850 56%
BEAE JAL JAC 45,900 23% 22,950 61% 29,400 51%
(A= BER JAC JAL 45,050 31% 22,550 66% 28,850 56%
BEAE JAC JAL 45,900 23% 22,950 61% 29,400 51%
R TH) =FkRE[RFZCARAH| EE JAL JAC 46,950 31% 23,500 66% 30,050 56%
Pk RARRE | _BER JAC JAL 46,950 31% 23,500 66% 30,050 56%
BEAE JAC JAL 46,950 25% 23,500 63% 30,050 52%
Bl EEXE | JAC JAC JAL | 46,950 38% 23,500 69% 30,050 60%
RRCPAE)=5# [RRPB) | ER JAL JAC 47,350 32% 23,700 66% 30,300 57%
Xt B JAC JAL 47,350 32% 23,700 66% 30,300 57%
BEXE JAC JAL 47,300 28% 23,650 64% 30,250 54%
MkBREL | BEXS | JAC JAC JAL 47,300 35% 23,650 68% 30,250 59%
KRR =BEAB| KR (FHD | ER JAC JAC 38,550 23% 19,300 61% 24,700 51%
BEEAEH | BEIR JAC JAC 38,550 23% 19,300 61% 24,700 51%
KR (R =ERB| KR (P E|_ER JAC JAC 39,000 24% 19,500 62% 25,000 51%
BEAE JAL JAC 39,000 15% 19,550 57% 24,950 45%
ERBR BER JAC JAC 39,000 24% 19,500 62% 25,000 51%
BEAE JAC JAL 39,000 15% 19,550 57% 24,950 45%
KR (P =BzB| KR (EFD FE[_ER JAC JAC 40,100 25% 20,050 63% 25,700 52%
BEAE JAL JAC 41,000 17% 20,500 59% 26,250 47%
(A= BER JAC JAC 40,100 25% 20,050 63% 25,700 52%
BEAE JAC JAL 41,000 17% 20,500 59% 26,250 47%
KR (R =Xk B8 | KR (R | ER JAC JAC 41,650 26% 20,850 63% 26,700 53%
Pk AR | BRI JAC JAC 41,650 26% 20,850 63% 26,700 53%
KR (B =5#h [KRFDH| ER JAC JAC 42,050 27% 21,050 64% 26,950 53%
i ER JAC JAC 42,050 27% 21,050 64% 26,950 53%
BRE=BXXE EHGES BE'R JAC JAC 30,800 26% 15,400 63% 19,700 53%
BEABSE | BIR JAC JAC 30,800 26% 15,400 63% 19,700 53%
EE=ERE EHEES BEIR JAC JAC 32,250 25% 16,150 62% 20,600 52%
BEAE JAC JAC 32,250 22% 16,150 61% 20,600 50%
ERBR BER JAC JAC 32,250 25% 16,150 62% 20,600 52%
BEXE JAC JAC 32,250 22% 16,150 61% 20,600 50%
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EE=fE28 BERS JAC JAC 32,350 20% 16,200 64% 20,700 54%
BEAE JAC JAC 32,350 20% 16,200 64% 20,700 54%
ERE JAC JAC 32,350 29% 16,200 64% 20,700 54%
BEAE JAC JAC 32,350 20% 16,200 64% 20,700 54%
1akE =ik RE&R BERS JAC JAC 33,900 30% 16,950 65% 21,700 55%
; ERS JAC JAC 33,900 30% 16,950 65% 21,700 55%
18kt =55k BERS JAC JAC 34,300 31% 17,150 65% 21,950 56%
ERS JAC JAC 34,300 31% 17,150 65% 21,950 56%
HECRE) =5E A8 JTA_|JTA/RAC 59,400 16% 29,700 58% 38,000 47%
PR GIRER) RAC JAL 59,400 18% 29,700 59% 38,000 48%
aiE JTA/RAC| JTA 59,400 16% 29,700 58% 38,000 47%
AR(FFD=5BE] SMEE [ GEHE) RAC JAL 48,500 26% 24,250 63% 31,050 53%
Kk (B%) =5ME| AR (BEFE) %[ FHiE JTA_|JTA/RAC 48,500 19% 24,250 60% 31,050 48%
CENEE T TE ) RAC _[JAL/JTA 48,500 26% 24,250 63% 31,050 53%
aiE JTA/RAC| JTA 48,500 19% 24,250 60% 31,050 48%
2HE(PH) =58E] SPEFE [l GHR) RAC JTA 47,600 32% 23,800 66% 30,450 57%
12 =5 HE 5ESR [ GLH3) RAC JTA 43,500 27% 21,750 63% 27,850 53%
EGR) =5RE[ rEGBR K| FHIE JTA/RAG|JTA/RAC 31,700 9% 15,850 54% 20,300 42%
B = JTA/RAC|JTA/RAC 31,700 9% 15,850 54% 20,300 42%
RRCRE) =AXE Sh#E (BRER) JAL _|JTA/RAC 51,100 3% 25,550 51% 32,700 38%
F#E GRER) JTA/RAC| JAL 51,100 3% 25,550 51% 32,700 38%
KR (D) =AKE P8 GRER) JAL _[JTA/RAC 38,900 15% 19,450 58% 24,900 46%
F#E (GRER) JTA/RAC|  JAL 38,900 15% 19,450 58% 24,900 46%
Kk (BT =AKE P48 (AR ER) JAL/JTA[JTA/RAC 38,900 15% 19,450 58% 24,900 46%
AXE | hi8 (BRER) JTA/RAG|JAL/JTA 38,900 15% 19,450 58% 24,900 46%
ZEHE (PH) = AKB| 2 EE (D) |54 GRHR) JTA_|JTA/RAC 43,300 14% 21,650 57% 27,700 45%
AXKEHR [P G JTA/RAC| JTA 43,300 14% 21,650 57% 27,700 45%
BE=AKE EESE [ (RH) JTA _[JTA/RAC 32,200 18% 16,100 59% 20,600 48%
AXEFE |HEEEH) JTA/RAC| JTA 32,200 18% 16,100 59% 20,600 48%
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RR(PE)=Bd RHECHE) P8 (BRER) JAL | JTA/RAC 36,000 38% p— p—
R SPIE(RE) [ JTA/RAC|  JAL 36,000 38% p— p—
RHRCHA)=F1E RHECHE)F SPi8 (BRER) JAL [ JTA/RAC 36,300 43% p— p—
RiEH P (BF) | JTA/RAC JAL 36,300 43% p— p—
KR (R FH =% 51 KB (FFFH % EGACELED) JAL JAL 35,800 44% p— p—
FLIE (FTF ) JAL JAL 35,800 43% p— p—
iR F RERCRH) JAL JAL 35,800 44% p— p—
LR (FTF ) JAL JAL 35,800 43% p— p—
KR (B#E) =% &5l PNUAGEDES EGACELED) JAL JAL 35,800 44% [— p—
FLIE (T JAL JAL 35,800 43% p— p—
iR F RERCRH) JAL JAL 35,800 44% p— p—
FLIE (T JAL JAL 35,800 43% p— p—
K (FFH =1l KB (75 5 R CHEA) JAL JAL 34,900 44% p— p—
JBJIFE R CHEA) JAL JAL 34,900 44% p— p—
Kk (B#E) =Rl PNUAGEEDES EGACElED) JAL JAL 34,900 44% [— p—
HBJIFE R CHEA) JAL JAL 34,900 44% p— p—
K (FFH =8I% AR (FFH 3 EGACELED) JAL JAL 33,700 45% p— p—
S 58 EGACELED) JAL JAL 33,700 45% p— p—
KPR (BE#E) =#IR% ABR(BEFE) ¥ | HRCHA) JAL JAL 33,700 45% [ p—
S 3¢ EGACELED) JAL JAL 33,700 45% p— p—
K (FFH =F A AR (FFH % EGACELED) JAL JAL 32,700 46% p— p—
HILF EGACELED) JAL JAL 32,700 46% p— p—
PNCGEDEE DN X (B7E) 3 E A CELED) JAL JAL 32,700 46% p— p—
HILF E A CELED) JAL JAL 32,700 46% p— p—
KB (R FH) =&fE AR (FFH % E A CELED) JAL JAL 32,400 40% p— p—
BREEF E A CELED) JAL JAL 32,400 40% p— p—
KB (A ==iR Mﬁ(ﬁ*ﬂ)% R CHEA) JAL JAL 30,200 42% [— p—
RFE EGACELED) JAL JAL 30,200 42% p— p—
Kk (B§#E) ==iR Mﬁ(ﬁaﬁ)% E A CELED) JAL JAL 30,200 42% p— p—
ZR% R CHEA) JAL JAL 30,200 42% p— p—
KR () =Rk KB (FFF) 5 = JAC JAC 19,500 38% [— p—
[ETES ] JAC JAC 19,500 38% [— p—
KR =8F5 | KRUFFD R BERES JAC JAC 31,000 21% [ p—
BETEX BERS JAC JAC 31,000 21% p— p—
KR (D =& ABRBEFDFE | i GRE) JAL | JTA/RAC 34,400 33% [ p—
B ShEEGRE) [ JTA/RAC|  JAL 34,400 33% p— p—
KB (B#E) =Bd ABR(BEFE) & | H#E(BH) | JAL/JTA [ JTA/RAC 34,400 33% [ p—
] S8 (ARE) | JTA/RAC| JAL/JTA 34,400 33% p— p—
KR (FFH =F1E AR (FF) 5 P8 (ARER) JAL | JTA/RAC 32,800 43% [— p—
AiEH JhiE (FBFR) | JTA/RAC JAL 32,800 43% J— p—
KBx (BdR) =R pNUAGGEDES PEE (BBF) | JAL/JTA | JTA/RAC 32,800 43% [— p—
HIEH 48 (AREE) | JTA/RAC | JAL/JTA 32,800 43% j— p—
£EE(PE) =%E5 | KEE (P H | AWIEGETR) JAL JAL 31,900 46% [ p—
iR F | ALIR (BT %) JAL JAL 31,900 46% J— p—
A2EE(PE) =24 | £AGEPER | HEGEH) JTA | JTA/RAC 35,200 37% [ p—
B SPHE(RE) [ JTA/RAC]  JTA 35,200 37% p— p—
£2EE(PE)=FHIE %EE(:P*B) % | B (ERE) JTA | JTA/RAC 33,800 45% J— p—
i3 P (BB#R) | JTA/RAC JTA 33,800 45% [ p—
LR (BT F %) =/ *LWE(%)H’-%’&) % | ERCHHA) JAL JAL 25,800 53% p— p—
IMRFE EGACElED) JAL JAL 25,800 53% p— p—
ARG TR =mieE| ARG TR) R | HRCRA) JAL JAL 31,300 50% [ p—
El=had R CHH) JAL JAL 31,300 50% p— p—
AR (FFR) =@ [ AIRGTTFR)H | ERCHH) JAL JAL 31,300 51% p— p—
FElLLI 3¢ EGACElED) JAL JAL 31,300 51% p— p—
AR EFFR) =L [ FIEETFRH | ERCHH) JAL JAL 32,100 50% p— p—
NSRS RFECREA) JAL JAL 32,100 50% p— p—
IR FFR) =ILOFH|] ARETFR)H | ZRRCHA) JAL JAL 33,600 51% p— p—
I=ESES EGACELED) JAL JAL 33,600 51% p— p—
IR (FF%) =HE *Lfﬁ(%ﬁﬂ’-%’&)% EGACELED) JAL JAL 30,000 54% p— p—
EGACElED) JAL JAL 30,000 54% p— p—
R FFR) =ES *LWE(%)H’-%’&) % | ERRCHHA) JAL JAL 31,200 50% p— p—
mE% RHECREA) JAL JAL 31,200 50% p— p—
IR (FFR) =it *LWE(%)H’-%’&) % | ERRCHHA) JAL JAL 32,000 49% p— p—
EGACElED) JAL JAL 32,000 49% p— p—
IR (FFR) =24 *LWE(%)H’-%’&) % | ERRCHHA) JAL JAL 33,200 49% p— p—
FSEa EGACElED) JAL JAL 33,200 49% p— p—
AR (B FR) =l [ AIRCGHTFR)H | ERCHA) JAL JAL 35,000 46% p— p—
[NIIE EGACElED) JAL JAL 35,000 46% p— p—
ARG FR) =dtAM [ ARG TR F | RECHE) JAL JAL 33,600 52% [ p—
B[Rk EGACElED) JAL JAL 33,600 52% [— p—
R EFFR) =K [ AEGEGTFRH | ERCHH) JAL JAL 33,600 51% p— p—
RoF EGACElED) JAL JAL 33,600 51% p— p—
R EFFR) =R [ AIEEGTFRH | ERCHH) JAL JAL 35,200 51% p— p—
RUsS RFCREA) JAL JAL 35,200 51% p— p—
IR T =X | ARGITRH | RRCHA) JAL JAL 34,400 51% [ p—
REARF HRE(CRHE) JAL JAL 34,400 51% p— p—
R FFR) == [ ARG TRH | ERCHH) JAL JAL 35,200 50% p— p—
EGES RFECREA) JAL JAL 35,200 50% p— p—
IR FR)=ERS *Lfﬁ(%ﬁq’-ﬁi) % | EE(CHEA) JAL JAL 39,200 46% p— p—
EREH EGACELED) JAL JAL 39,200 46% p— p—
IR EFTFR) =B | FIRFFH) R | EZHH) JAL JAL 40,300 46% p— p—
KBx (B7E) JAL JAL/JTA 40,300 47% j— p—
2R (FEf) JAL JTA 40,300 47% p— p—
1=k JAL JTA 40,300 49% p— p—
hiE (IRER) HR(CRHE) JAL JAL 40,300 46% p— p—
KR (BFE) | JAL/JTA JAL 40,300 47% j— p—
ZEE(PER) JTA JAL 40,300 47% p— p—
FEE) JTA JAL 40,300 49% p— p—
ARG FR)=FE [ MREGTHH | RRCHH) JAL JTA 49,600 47% p— p—
RIEH R CHEA) JTA JAL 49,600 47% p— p—




[EHEE|7 EEXR(10H1H~10826BEES) JAL/JTA/JAG/RAC
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(RS FHES R (FIH) JAL JAL 39,800 49% p— p—
FLIR G a%) JAL JAL 39,800 45% p— p—
iR F RERCRH) JAL JAL 39,800 49% p— p—
FLIR G %) JAL JAL 39,800 45% p— p—
(RN [ ES R (FIH) JAL JAL 35,700 53% p— p—
JBJIFE R CHEA) JAL JAL 35,700 53% p— p—
[EHEEE [ ES R (FIH) JAL JAL 35,200 53% p— p—
S EGACElED) JAL JAL 35,200 53% p— p—
BRI =5 [ ES R (FIH) JAL JAL 35,700 52% p— p—
HILSE RFECREA) JAL JAL 35,700 52% p— p—
[EHEEET [ HES R (FIH) JAL JAL 39,500 42% p— p—
EEES EGACElED) JAL JAL 39,500 42% p— p—
ER=5% FHES R (FIH) JAL JAL 39,400 41% p— p—
KBg (FFF1H) JAL JAL 39,400 33% [— p—
HEHRR BHERCRH) JAL JAL 39,400 41% p— p—
pNTACGTE)) JAL JAL 39,400 33% [— p—
&R ==IR EH=ES R (FIH) JAL JAL 39,000 41% p— p—
KB (71 JAL JAL 39,000 35% J— p—
ZiR% HERCRH) JAL JAL 39,000 41% p— p—
KB (FF1) JAL JAL 39,000 35% J— p—
BRI =1% TR 5 RER (FFH JAL JAL 38,600 32% p— p—
TEESH KB F#F JAL JAL 38,600 32% J— p—
fER=%E EHES R (FIH) JAL JAL 33,900 45% p— p—

KBR (FFF1H) JAL JAL 33,900 38%
FEF HRECRHE) JAL JAL 33,900 45% p— p—
KB (71 JAL JAL 33,900 38% J— p—
2k = 1Lf2 EHES R (FIH) JAL JAL 29,600 46% p— p—
KB (71 JAL JAL 29,600 45% J— p—
[I}Z 3 R CHEA) JAL JAL 29,600 46% p— p—
KB (FF1) JAL JAL 29,600 45% J— p—
&R =%k a5 KB (FFD JAL JAL 31,800 38% p— p—
RS KB FRF JAL JAL 31,800 38% J— p—
[ RN [ ES R (FIH) JAL JAL 29,500 50% p— p—
IMRFE RER CRH) JAL JAL 29,500 50% p— p—
ER==4 [ HRES B GRER) JTA__| JTA/RAC 31,200 31% p— p—
EEH SPIE(RER) [ JTA/RAC]  JTA 31,200 31% p— p—
R =R [ HEES B GRER) JTA__| JTA/RAC 33,900 33% p— p—
RiEH SPHE (BR%E) | JTA/RAC JTA 33,900 33% [ p—
ZimAl=1l& Sk Lig B F &%) JAL JAL 24,400 51% p— p—
=% Lig B F %) JAL JAL 24,400 51% p— p—
ZiER =8 S E L% (37 F %) JAL JAL 25,600 50% J— p—
Fibokas L% (37 F %) JAL JAL 25,600 50% J— p—
Zim A=/ Sk EGACELED) JAL JAL 32,700 48% p— p—
IMRFE EGACElED) JAL JAL 32,700 48% p— p—
iRl =mafe B Eial=had EGACELED) JAL JAL 36,000 49% p— p—
i Bl =FRa L Sk HRE(CRHE) JAL JAL 36,000 49% p— p—
FE LI ¢ EGACElED) JAL JAL 36,000 49% p— p—
ZimAl=1L8 SRS EGACELED) JAL JAL 38,200 47% p— p—
FLIR G a%) JAL JAL 38,200 43% p— p—
PN=ES EGACELED) JAL JAL 38,200 47% p— p—
FLIR G a%) JAL JAL 38,200 43% p— p—
ZimAl=HE Sk HRECRHE) JAL JAL 34,700 52% p— p—
HER EGACElED) JAL JAL 34,700 52% p— p—
Zim Al =0 Sk E A CELED) JAL JAL 39,600 46% p— p—
FALLFE EGACElED) JAL JAL 39,600 46% p— p—
ZimAl=Hh1iE S vk E A CELED) JAL JTA 55,700 45% p— p—
RiES EGACElED) JTA JAL 55,700 45% p— p—
JENIETSA JBJIIZE EGACElED) JAL JAL 32,700 47% [ p—
INEYSE R CHEA) JAL JAL 32,700 47% p— p—
BNI=m{aE JENIES EGACElED) JAL JAL 36,000 47% p— p—
FiCERESR R CHEA) JAL JAL 36,000 47% [ p—
HBJI=FRE1L JBJIIZE EGACElED) JAL JAL 36,000 48% [ p—
FE LI ¢ EGACElED) JAL JAL 36,000 48% p— p—
BIH=HE JBJIIZE EGACElED) JAL JAL 34,700 51% [ p—
HEH EGACElED) JAL JAL 34,700 51% p— p—
JBJI=#x11 JBJIIZE EGACElED) JAL JAL 39,600 45% [ p—
FALLFE EGACElED) JAL JAL 39,600 45% p— p—
fBIll=%h1E ENIE:S R CHH) JAL JTA 51,700 48% p— p—
RiESH EGACEED) JTA JAL 51,700 48% p— p—
ETEEA FIEE3 R (FIH) JAL JAL 32,700 46% p— p—
IMRFE EGACElED) JAL JAL 32,700 46% p— p—
SR =FfCEE FEES R (FIH) JAL JAL 36,000 47% p— p—
EACEESR R CHEA) JAL JAL 36,000 47% [ p—
g = FEE3 R (FIH) JAL JAL 36,000 48% p— p—
FE LI ¢ EGACElED) JAL JAL 36,000 48% p— p—
fIB=L5 FEE3 R (FIH) JAL JAL 38,200 45% p— p—
RS EGACELED) JAL JAL 38,200 45% p— p—
fR=HE P SRS CRHE) JAL JAL 34,700 51% p— p—
HEF RRCRHE) JAL JAL 34,700 51% — —
SR =210 SERF R CHH) JAL JAL 39,600 44% — p—
[NITE:3 R CHEA) JAL JAL 39,600 44% p— p—
fi=rxiE FIEE3 R (FIH) JAL JTA 54,900 44% p— p—
AiEH EGACElED) JTA JAL 54,900 44% p— p—
L=/ L R (FIH) JAL JAL 32,700 46% p— p—
IMRFE EGACElED) JAL JAL 32,700 46% p— p—
wh=FRLEE L R (FIH) JAL JAL 36,000 47% p— p—
EiCEESR R CHEA) JAL JAL 36,000 47% [ p—
HL=MEW L R (FIH) JAL JAL 36,000 47% p— p—
FEl LI 5 RERECRH) JAL JAL 36,000 47% p— p—




rE#E=5I7 1 EER(1I0A1B~10A26BEFES) JAL/JTA/JAC/RAC
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BL=HE LS RECRA) JAL JAL 34,700 50% p— p—
HE EGACElED) JAL JAL 34,700 50% p— p—
HIL=H LS ESACELE)) JAL JAL 39,600 44% p— p—
[N R CHEA) JAL JAL 39,600 44% p— p—
HLh=Fh18 TR IR CHH) JAL JTA 54,200 45% p— p—
RiES R CHEA) JTA JAL 54,200 45% p— p—
AR =/ A EEES R (FIH) JAL JAL 26,800 50% p— ——
IMRFE EGACElED) JAL JAL 26,800 50% p— p—
=R HE AR IR CRH) JAL JAL 34,900 42% p— p—
Eisl=had R CHEA) JAL JAL 34,900 42% [ p—
EEE=MW EEEH R CHH) JAL JAL 34,900 43% p— ——
] LLI & R CHEA) JAL JAL 34,900 43% p— p—
HEE=IL5 EHEEF EGACELED) JAL JAL 37,700 39% p— p—
PNEES RFCREA) JAL JAL 37,700 39% p— p—
HEE=HE EEEF HRCRHE) JAL JAL 33,700 46% p— p—
KB (71 JAL JAC 33,700 42% J— p—
HER BHERCRH) JAL JAL 33,700 46% p— p—
KB (71 JAC JAL 33,700 42% J— p—
EEE=Hl EEER R (FIH) JAL JAL 38,400 39% p— ——
KB (71 JAL JAL 38,400 31% J— p—
[NTTE R CHEA) JAL JAL 38,400 39% p— p—
KB (71 JAL JAL 38,400 31% J— p—
BEAE =L AR F EGACELED) JAL JAL 32,400 52% p— p—
E[#RE: EGACELED) JAL JAL 32,400 52% [ p—
HEE=K5 g RFECREA) JAL JAL 32,400 52% p— p—
KB (FF1) JAL JAL 32,400 44% J— p—
Ko R CHEA) JAL JAL 32,400 52% p— p—
KB (71 JAL JAL 32,400 44% J— p—
HE=RI& AR ESACE)) JAL JAL 33,600 52% p— p—
R RFECREA) JAL JAL 33,600 52% p— p—
KB (71 JAL JAL 33,600 48% J— p—
BHEE=FEX RS HR CHH) JAL JAL 33,600 51% p— p—
KBR (71 JAL JAL 33,600 46% J— p—
K% BHERCRH) JAL JAL 33,600 51% p— p—
KB (71 JAL JAL 33,600 46% J— p—
HE=E& RS RECRA) JAL JAL 33,600 51% p— p—
KB (71 JAL JAL/JAC 33,600 46% J— p—
EGES RFECREA) JAL JAL 33,600 51% p— p—
KR F#FH | JAL/JAC JAL 33,600 46% J— p—
EHE=ERS EHEEEF HRCRHE) JAL JAL 34,400 51% p— p—
KB (71 JAL JAC 34,400 48% J— p—
BEREH HRECRHE) JAL JAL 34,400 51% p— p—
KB (71 JAC JAL 34,400 48% J— p—
HE=R1E HEEH R CHH) JAL JTA 48,000 47% p— ——
RiEH R CHEA) JTA JAL 48,000 47% p— p—
BHR=/ML EHE EACELED) JAL JAL 25,600 51% p— p—
IMRFE EGACElED) JAL JAL 25,600 51% p— p—
EH=MICHE EHRE EACELED) JAL JAL 28,800 51% p— p—
EiCEESR R CHEA) JAL JAL 28,800 51% [ p—
BFH=MEWL EHE EACELED) JAL JAL 28,800 52% p— p—
Ff] LLI ¢ EGACElED) JAL JAL 28,800 52% p— p—
EHR=IL5 R R CHH) JAL JAL 29,600 51% p— p—
PNEES RFECREA) JAL JAL 29,600 51% p— p—
EFH=LOFY B E A CELED) JAL JAL 31,200 52% p— p—
I=ESE3 EGACElED) JAL JAL 31,200 52% p— p—
EHR=HE 33 HR CHH) JAL JAL 28,800 53% p— p—
KB (71 JAL JAC 28,800 48% J— p—
HE BHERCRH) JAL JAL 28,800 53% p— p—
KB (71 JAC JAL 28,800 48% J— p—
EHR=0E5 R R CHH) JAL JAL 30,600 49% p— p—
BE% EGACElED) JAL JAL 30,600 49% p— p—
BHR=m EHRE EACELED) JAL JAL 28,800 52% p— p—
EinS EGACElED) JAL JAL 28,800 52% p— p—
BHR=EH EHRE EACELED) JAL JAL 29,600 52% p— p—
EEI% EGACElED) JAL JAL 29,600 52% p— p—
BFH=HL ERR R CHH) JAL JAL 29,600 52% p— p—
KB (71 JAL JAL 29,600 45% J— p—
PAIIE S HERCRH) JAL JAL 29,600 52% p— p—
KB (71 JAL JAL 29,600 45% J— p—
BHE=ILAM BERH RFECRMA) JAL JAL 31,200 53% p— p—
E[#RIE: EGACElED) JAL JAL 31,200 53% [ p—
BEHR=K7 33 RECREA) JAL JAL 31,200 53% p— p—
KB (71 JAL JAL 31,200 44% J— p—
Ko HERCRH) JAL JAL 31,200 53% p— p—
KB (71 JAL JAL 31,200 44% J— p—
EHR=R& 33 R CHH) JAL JAL 33,600 51% p— p—
KB (71 JAL JAL 33,600 46% J— p—
R RFECREA) JAL JAL 33,600 51% p— p—
KB (71 JAL JAL 33,600 46% J— p—
EHR=EX R ESACE)) JAL JAL 32,400 51% p— p—
A% EGACEED) JAL JAL 32,400 51% p— p—
KB (71 JAL JAL 32,400 46% J— p—
EHR=E& 3 RECREA) JAL JAL 32,400 51% p— p—
KB (71 JAL JAL/JAC 32,400 46% J— p—
EGES RFECREA) JAL JAL 32,400 51% p— p—
KR F#FH | JAL/JAC JAL 32,400 46% J— p—
BEHR=BERE EHRH RECREA) JAL JAL 33,600 51% p— p—
KB (71 JAL JAC 33,600 47% J— p—
BREH HERCRH) JAL JAL 33,600 51% p— p—
KB (71 JAC JAL 33,600 47% J— p—
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EEEAR 2013/5/29 ~
X E3=2E0) Gt AN kel E 10/12-14 | EHH
KED | K@ 10/15-26 e ETEES

BH=RE ERR iR CHH) JAL JTA 46,800 48% p— p—
RiESH R CHEA) JTA JAL 46,800 48% p— p—
ZIR=/2 =IR% EGACElED) JAL JAL 25,600 50% p— p—
IMRFE EGACElED) JAL JAL 25,600 50% p— p—
SR=raic 8k EiEESR EGACELED) JAL JAL 28,800 51% p— p—
ZIR=FWL =3 EGACElED) JAL JAL 28,800 52% p— p—
B LLI ¢ R CHEA) JAL JAL 28,800 52% p— p—
=R=L& =R% R (FIH) JAL JAL 29,600 51% p— ——
NEES RFECREA) JAL JAL 29,600 51% p— p—
ZR=10=F§ ZIR% EGACElED) JAL JAL 31,200 51% p— p—
eSS EGACElED) JAL JAL 31,200 51% p— p—
ZIR=HZE =iR% BHERCRH) JAL JAL 28,800 53% p— p—
KB (71 JAL JAC 28,800 49% J— p—
HE BHERCRH) JAL JAL 28,800 53% p— p—
KB (71 JAC JAL 28,800 49% J— p—
=R=1% R (FIH) JAL JAL 30,100 49% p— ——
EGACElED) JAL JAL 30,100 49% p— p—
=iR="" R (FIH) JAL JAL 28,800 51% p— ——
EGACELED) JAL JAL 28,800 51% p— p—
=iR=&% R (FIH) JAL JAL 28,800 53% p— ——
EGACELED) JAL JAL 28,800 53% p— p—
=R=#1l R CHH) JAL JAL 29,600 52% p— p—
KB (71 JAL JAL 29,600 46% J— p—
BHERCRH) JAL JAL 29,600 52% p— p—
KB (71 JAL JAL 29,600 46% J— p—
ZiR=4thm ZIR% EGACElED) JAL JAL 31,200 53% p— p—
E[&RIE: EGACElED) JAL JAL 31,200 53% [ p—
ZIR=X% ZIR% EGACELED) JAL JAL 31,200 52% p— p—
KBR (71 JAL JAL 31,200 45% J— p—
KoHF EGACElED) JAL JAL 31,200 52% p— p—
ZIR=RI& =iR% EGACELED) JAL JAL 33,600 51% p— p—
KBR (71 JAL JAL 33,600 47% J— p—
R RFECREA) JAL JAL 33,600 51% p— p—
KBR (71 JAL JAL 33,600 47% J— p—
ZIR=FEX =iR% BHERCRH) JAL JAL 32,400 51% p— p—
KB (71 JAL JAL 32,400 47% J— p—
AR % EGACELED) JAL JAL 32,400 51% p— p—
ZR=E =iR% HRCRHE) JAL JAL 32,400 51% p— p—
KB (71 JAL JAL/JAC 32,400 47% J— p—
EGES RFECREA) JAL JAL 32,400 51% p— p—
KR F#FH | JAL/JAC JAL 32,400 47% J— p—
ZIR=ERS =iR% HERCRH) JAL JAL 33,600 51% p— p—
KB (71 JAL JAC 33,600 48% J— p—
BREH BHERCRH) JAL JAL 33,600 51% p— p—
KB (71 JAC JAL 33,600 48% J— p—
=R=%1E =IR% ESACE)) JAL JTA 46,800 47% p— p—
RIS R CHEA) JTA JAL 46,800 47% p— p—
FE =/ TREFE R CHH) JAL JAL 24,800 47% p— ——
NS R CHEA) JAL JAL 24,800 47% p— p—
MHE=FMLEE N 5 ESACE)) JAL JAL 25,600 52% p— p—
EiERESR R CHEA) JAL JAL 25,600 52% [ p—
ME=[EW =ES R (FIH) JAL JAL 25,600 53% p— ——
B LLI ¢ EGACElED) JAL JAL 25,600 53% p— p—
MHEA=L5 FUEF E A CELED) JAL JAL 27,200 51% p— p—
LE% RFECREA) JAL JAL 27,200 51% p— p—
ME=LOFH TREFE R (FIH) JAL JAL 29,600 50% p— ——
I=ESE3 EGACElED) JAL JAL 29,600 50% p— p—
MHE=HZE MEE R CHH) JAL JAL 25,600 54% p— p—
KB (71 JAL JAC 25,600 51% J— p—
HER BHERCRH) JAL JAL 25,600 54% p— p—
KB (71 JAC JAL 25,600 51% J— p—
ME=E5 REES RFCRMA) JAL JAL 25,600 53% J— p—
mE% EGACElED) JAL JAL 25,600 53% p— p—
HE=5H TREF R (FIH) JAL JAL 27.200 50% p— ——
EinS EGACElED) JAL JAL 27,200 50% p— p—
MHE=54 TREFE R CHH) JAL JAL 27,200 51% p— ——
EEI% EGACElED) JAL JAL 27,200 51% p— p—
FE=f0 TEFE R CHH) JAL JAL 28,300 49% p— ——
KB (71 JAL JAL 28,800 42% J— p—
PAIIE S HERCRH) JAL JAL 28,800 49% p— p—
KB (71 JAL JAL 28,800 42% J— p—
FE=dL M S RFECRMA) JAL JAL 29,600 52% p— p—
E[®RIE: EGACElED) JAL JAL 29,600 52% [ p—
ME=X% MEE HR CHH) JAL JAL 29,600 51% p— p—
KB (71 JAL JAL 29,600 43% J— p—
Ko HERCRH) JAL JAL 29,600 51% p— p—
KB (71 JAL JAL 29,600 43% J— p—
MA=RI& FEF HRCRHE) JAL JAL 31,200 51% p— p—
KB (71 JAL JAL 31,200 47% J— p—
R RFECREA) JAL JAL 31,200 51% p— p—
KB (71 JAL JAL 31,200 47% J— p—
MHA=FEX EF B CRHE) JAL JAL 31,200 49% p— p—
KB (71 JAL JAL 31,200 45% J— p—
A% EGACELED) JAL JAL 31,200 49% p— p—
KB (71 JAL JAL 31,200 45% J— p—
MHA=2& PREES RFECREA) JAL JAL 31,200 49% J— p—
KB (71 JAL JAL/JAC 31,200 45% J— p—
EGES RFECREA) JAL JAL 31,200 49% p— p—
KR (F#FH [ JAL/JAC JAL 31,200 45% J— p—
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MH=ERS FEF E AR JAL JAL 32,400 49% p— p—
KB (FF1) JAL JAC 32,400 46% J— p—
BREH EGACElED) JAL JAL 32,400 49% p— p—
KB (71 JAC JAL 32,400 46% J— p—
ME=RE TREFE R CHH) JAL JTA 45,300 46% p— ——
RIS R CHEA) JTA JAL 45,300 46% p— p—
W=k 23 R CHEA) JAL JAL 23,700 41% p— p—
/NS R CHEA) JAL JAL 23,700 41% p— p—
Iz =R 3 R CHEA) JAL JAL 24,800 49% p— p—
R LLI 5 R CHEA) JAL JAL 24,800 49% p— p—
W =1L8 23 EGACELED) JAL JAL 27,100 45% p— p—
NSRS EGACElED) JAL JAL 27,100 45% p— p—
Wz =03 I3 R CHEA) JAL JAL 28,800 45% p— p—
I=E3E:3 RFCREA) JAL JAL 28,800 45% p— p—
IWfg=HZE %3 R CHEA) JAL JAL 27,100 45% p— p—
KB (71 JAL JAC 27,100 47% J— p—
HER BHERCRH) JAL JAL 27,100 45% p— p—
KB (71 JAC JAL 27,100 47% J— p—
Ik =E5 23 EGACELED) JAL JAL 25,800 46% p— p—
mES EGACELED) JAL JAL 25,800 46% p— p—
IWfz =5 23 EGACELED) JAL JAL 24,800 48% p— p—
EinF EGACELED) JAL JAL 24,800 48% p— p—
Ik =54% Nz EGACELED) JAL JAL 25,600 48% p— p—
EEI% RFECAMA) JAL JAL 25,600 48% p— p—
Wiz =40 %3 R CHEA) JAL JAL 25,600 49% p— p—
KB (FF1) JAL JAL 25,600 48% J— p—
PAIIE S EGACELED) JAL JAL 25,600 49% p— p—
KB (71 JAL JAL 25,600 48% J— p—
IRz =dt i I3 EGACElED) JAL JAL 29,600 46% p— p—
E[#RE: EGACElED) JAL JAL 29,600 46% f— p——
Ik=X%5 [IZ 3 R CHEA) JAL JAL 28,800 46% p— p—
KBR (71 JAL JAL 28,800 44% J— p—
Ko R CHEA) JAL JAL 28,800 46% p— p—
KBR (71 JAL JAL 28,800 44% J— p—
WL =R %3 HRCRHE) JAL JAL 31,200 45% p— p—
KB (71 JAL JAL 31,200 46% J— p—
R RFECREA) JAL JAL 31,200 45% p— p—
KB (71 JAL JAL 31,200 46% J— p—
Wi =8EX %3 HRCRHE) JAL JAL 29,600 46% p— p—
KB (71 JAL JAL 29,600 47% J— p—
K% HERCRH) JAL JAL 29,600 46% p— p—
KB (71 JAL JAL 29,600 47% J— p—
WL == %3 HRECRHE) JAL JAL 29,600 46% p— p—
KB (71 JAL JAL/JAC 29,600 47% J— p—
EGES RFECREA) JAL JAL 29,600 46% p— p—
KR F#FH | JAL/JAC JAL 29,600 47% J— p—
LH=ERS %3 HRCRHE) JAL JAL 31,200 45% p— p—
KB (71 JAL JAC 31,200 47% J— p—
BREH HERCRH) JAL JAL 31,200 45% p— p—
KB (71 JAC JAL 31,200 47% J— p—
I=HiE 3 R CHEA) JAL JTA 45,300 42% p— p—
RiEH R CHEA) JTA JAL 45,300 42% — p—
lid=HE =3 KR (FF1) JAL JAC 25,600 49% p— p—
HEH pNIACGE=)) JAC JAL 25,600 49% p— p—
fiE =1l il & 58 AR (1) JAL JAL 27,200 43% p— p—
[NIIE pNIACGE=)) JAL JAL 27,200 43% p— p—
i =X% il & 58 AR (1) JAL JAL 28,800 43% p— p—
RoF KB F#FD JAL JAL 28,800 43% p— p—
e =R& il & 58 AR (#F1) JAL JAL 31,200 45% J— p—
RUs5 pNIACGE=)) JAL JAL 31,200 45% p— p—
fild =%X =3 KB (FFD JAL JAL 29,600 45% p— p—
REARH pNIACGE=)) JAL JAL 29,600 45% p— p—
e ==& [ KB (FFD JAL | JAL/JAC 31,200 43% p— p—
EGES KR FF [ JAL/JAC JAL 31,200 43% p— p—
he=ERs il & 58 AR (#F1) JAL JAC 31,200 46% J— p—
EREH pNIACGE=)) JAC JAL 31,200 46% p— p—
FR=HE P bk KB (FFD JAL JAC 23,200 52% p— p—
HEH KB FR#FD JAC JAL 23,200 52% p— p—
FR=wl Pk KR () JAL JAL 25,600 44% p— p—
[NIIE pNIACGE=)) JAL JAL 25,600 44% p— p—
FR=K7 P bk KB (FFD JAL JAL 27,200 44% p— p—
PR pNIACGE=)) JAL JAL 27,200 44% p— p—
FR=R& P bk KB (FFD JAL JAL 29,600 46% p— p—
RUs5 pNIACGE=)) JAL JAL 29,600 46% p— p—
FR=EEX S ABR (#F1) JAL JAL 28,800 45% J— p—
REARF pNIACGE=)) JAL JAL 28,800 45% p— p—
FR=E& P bk KB (FFD JAL | JAL/JAC 28,800 45% p— p—
EGES KR FFH [ JAL/JAC JAL 28,800 45% p— p—
FR=ERS Hin KB (FFD JAL JAC 29,600 47% p— p—
EREH KB F#F) JAC JAL 29,600 47% p— p—
AN INEAFE ESACE)) JAL JAL 24,200 53% p— p—
R LLI & R CHEA) JAL JAL 24,200 53% p— p—
INA=IRE INEAFE RECREA) JAL JAL 24,800 53% p— p—
NEES EGACElED) JAL JAL 24,800 53% p— p—
IMA=ILOFE /NS EGACElED) JAL JAL 27,800 51% p— p—
I=E3E:3 RFECREA) JAL JAL 27,800 51% p— p—
IMR=HE INAFE EGACELED) JAL JAL 25,200 53% p— p—
HE EGACElED) JAL JAL 25,200 53% p— p—
IMA=TER INHAFE RFECREA) JAL JAL 26,400 49% J— p—
(TS RECRH) JAL JAL 26,400 49% p— p—
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IMA=EH INEAFE R CHH) JAL JAL 23,700 54% p— p—
EinS EGACElED) JAL JAL 23,700 54% p— p—
IMA=TF INDFE EGACElED) JAL JAL 25,400 52% p— p—
EEI% EGACElED) JAL JAL 25,400 52% p— p—
IMR=HAL INEAFE RFECREA) JAL JAL 25,600 52% J— p—
[NIIE EGACElED) JAL JAL 25,600 52% p— p—
IMA=dE RN IMRFE EGACElED) JAL JAL 29,500 50% [— p—
E[&RIE: EGACElED) JAL JAL 29,500 50% [— p—
INR=K5 INDFE EGACELED) JAL JAL 28,600 50% p— p—
RoF EGACElED) JAL JAL 28,600 50% p— p—
M= RIG IMRFE EGACElED) JAL JAL 31,200 49% [— p—
RIs5 EGACElED) JAL JAL 31,200 49% p— p—
IMR=EER INEAFE R CHH) JAL JAL 29,500 50% p— p—
RER % RFECREA) JAL JAL 29,500 50% p— p—
INR=TE I INDFE EGACELED) JAL JAL 29,500 50% p— p—
=IGH EGACElED) JAL JAL 29,500 50% p— p—
IME=ERE INHAFE RFECREA) JAL JAL 31,200 49% [ p—
EEIR B % E A CELED) JAL JAL 31,200 49% p— p—
MEA=EH MR FE L AEED) JTA__| JTA/RAC 36,000 38% p— p—
B hEEGRE) [ JTA/RAC|  JTA 36,000 38% p— p—
IMA=T1E INEAFE R CHH) JAL JTA 36,300 55% p— p—
P8 (ARER) JTA | JTA/RAC 36,300 43% p— p—
AIER RER CRH) JTA JAL 36,300 55% p— p—
42 (FRE) [ JTA/RAC JTA 36,300 43% j— p—
==& FEINES S (ARER) JTA | JTA/RAC 34,400 33% J— p—
B SPHE(RER) [ JTA/RAC]  JTA 34,400 33% p— p—
fl=R1E B LLI ¢ 8 (ARER) JTA | JTA/RAC 37,000 35% [ p—
RiEH hiE (FBFR) | JTA/RAC JTA 37,000 35% J— p—
BH=E& EEI% 1= JAL/JAC | JAL/JAC 26,300 39% J— p—
EGES & JAL/JAC | JAL/JAC 26,300 39% p— p—
BEKE=5H EEAEH ok BER JAC JAC 18,700 30% J— p—
55R% KB JAC JAC 18,700 30% — —
BEEXE=MHKRE EEXEHR iR JAC JAC 16,000 46% J— p—
ihok BARSE ik JAC JAC 16,000 46% J— p—
hEABR) =FH hEAEBE | HRECHA) JAL JAL 37,200 48% J— p—
B HRECRHE) JAL JAL 37,200 48% p— p—
B (AR ==iR M%(?iﬂ;g)?é EGACElED) JAL JAL 37,200 47% p— p—
RFE EGACElED) JAL JAL 37,200 47% p— p—
B (AhER) =HHE M%(?iﬂ;g)?é RFCAMA) JAL JAL 36,000 45% J— p—
FEF HRE(CRHE) JAL JAL 36,000 45% p— p—
8 (BRER) =L i (IRER) HRE(CRHE) JAL JAL 36,000 39% p— p—
I3 RERECRH) JAL JAL 36,000 39% p— p—
hiE (RER) =1L&E M%(?iﬂ;g)?é 1E JTA JAL 38,900 45% p— p—
a% & JAL JTA 38,900 45% p— p—
iR (IRER) =/ M%(?iﬂ;g)?é E ARl JAL JAL 34,900 44% p— p—
IMRFE RERECRH) JAL JAL 34,900 44% p— p—
iR (B =55 B (A8 ¥ tahE JTA | JAL/JAC 25,200 51% J— p—
SENF 1= JAL/JAC JTA 25,200 51% [ p—
B (ARER) =#Al s (AER) F = JTA JAC 23,500 51% J— p—
[NITE:3 & JAC JTA 23,500 51% p— p—
BR(PHE) =FXZXE | ERPHR BRE JAL JAC 41,700 33% p— p—
KBg ({FF1) JAL JAL 41,700 29% [ p—
TEERER BRE JAC JAL 41,700 33% p— p—
KBg ({FF1) JAL JAL 41,700 29% [ p—
RR(PH)=E/5 R CHE) BRE JAL JAC 41,800 34% p— p—
TBEXE JAL JAC 41,800 25% p— p—
ERER BRE JAC JAL 41,800 34% p— p—
TBERE JAC JAL 41,800 25% p— p—
RR(PHE) =25 R CHE) BRE JAL JAC 42,800 35% p— p—
TBERE JAL JAC 43,600 27% p— p—
[T BES JAC JAL 42,800 35% p— p—
TBERE JAC JAL 43,600 27% p— p—
RECPA) =k BE | HRECHA)H% BEES JAL JAC 44,600 35% J— p—
ihik RARSE BES JAC JAL 44,600 35% - p—
TBERE JAC JAL 44,600 29% p— p—
RHR(CHMA)= RHECHE)F BRE JAL JAC 45,000 36% p— p—
Eim% BEES JAC JAL 45,000 36% — —
TBERE JAC JAL 44,900 32% p— p—
KR (D =EEXS | KRUFD R BEES JAC JAC 36,000 28% - p—
TEEXEH BRE JAC JAC 36,000 28% p— p—
KR(EFH =ERE | KRUEFDHR BES JAC JAC 37,100 27% - p—
TBERE JAL JAC 37,100 19% p— p—
ERER BRE JAC JAC 37,100 27% p— p—
TBERE JAC JAL 37,100 19% p— p—
KRB =fE28E | KRUEFD R BRES JAC JAC 38,100 29% - p—
TBERE JAL JAC 39,000 21% p— p—
[EPA=E BRE JAC JAC 38,100 29% p— p—
BEEAS JAC JAL 39,000 21% p— p—
KR (FRFH =k BEB | KBR (RFD % BRE JAC JAC 39,600 30% p— p—
ok BERSE BRE JAC JAC 39,600 30% p— p—
KR () = KBR (75 5 BERS JAC JAC 39,900 31% [ p—
B BEES JAC JAC 39,900 31% — —
EE="EXXES 12 58 BEES JAC JAC 29,300 30% - p—
TEEXEHR BRE JAC JAC 29,300 30% p— p—
EE=E85 2 5 BES JAC JAC 30,600 29% - p—
BERE JAC JAC 30,600 26% p— p—
ERER BRE JAC JAC 30,600 29% p— p—
BERE JAC JAC 30,600 26% p— p—
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EE=fz5 FEEES BRES JAC JAC 30,700 32% J— p—
TBEXE JAC JAC 30,700 32% p— p—
w2EH BRE JAC JAC 30,700 32% p— p—
TBEXE JAC JAC 30,700 32% p— p—
t&RE =ihk RED e 5 BEES JAC JAC 32,200 33% [ p—
ok BERSE BRE JAC JAC 32,200 33% p— p—
EBm=5% e BEREE JAC JAC 32,600 34% -— —
5% BEES JAC JAC 32,600 34% — —
RECHHE) =58E HR CPIH) % ais JTA | JTA/RAC 41,100 42% [ p—
EX RS P8 (ARER) RAC JAL 41,100 43% p— p—
AiE JTA/RAC JTA 41,100 42% j— p—
KB (FFH) =5 3= SREF P8 (ARER) RAC JAL 37,600 43% [— p—
Kz (B#8) =53 E PNUAGEEDES AiE JTA | JTA/RAC 37,600 38% [— p—
EX B () RAC JAL/JTA 37,600 43% p— p—
AiE JTA/RAC JTA 37,600 38% j— p—
£5E (FE) =5E SMEFE S (ARER) RAC JTA 38,600 45% J— p—
12k =5 I E SMEF S8 (ARER) RAC JTA 34,600 42% J— p—
iR (RE) = 51E s (AER) F ais JTA/RAC | JTA/RAC 18,750 46% J— p—
SREF HiE JTA/RAC | JTA/RAC 18,750 46% [ p—
HRCHE) =A%X85 | HRECHEE | & GBH) JAL | JTA/RAC 36,700 30% p— p—
AXER ShEB(RE) | JTA/RAC|  JAL 36,700 30% p— p—
PNIACISEYE 3= AR (FFH % P8 (BRER) JAL [ JTA/RAC 32,200 30% p— p—
AXER ShEB(RE) | JTA/RAC|  JAL 32,200 30% p— p—
KR (BEFE) =AKE ABR(BEFE) & | H#EBE) | JAL/JTA [ JTA/RAC 32,200 30% J— p—
AXEHR S8 (ARE) | JTA/RAC| JAL/JTA 32,200 30% p— p—
AEE(PE)=AKRS | REEFEDH | AHEGRH) JTA | JTA/RAC 35,000 31% J— p—
AXER ShEEGRE) [ JTA/RAC|  JTA 35,000 31% p— p—
RBE=AXE [ RES P8 GRER) JTA__| JTA/RAC 26,600 32% p— p—
ARESR {8 (ARER) | JTA/RAC JTA 26,600 32% ——— p—




